. ; 2481 2D 2T ﬁ“fm Onnep S

2012
YYAUfEIRT TwHI%
BOOKLET NO.
TP :
3%+ 2 (37) A HT0i aitenr/ SCREENING TEST TET T : 200

(1) He IeAqfEashd 200 AFer 539 oRd.  SACarH geAEt S fofevar geara wvargdt a1 yeagided 9d
T 3A1ed foha EHa AT @ R TATEl. ST 999 o1 HTE! QY AEBTA & THYRh FHAThih g

EUCECCLRZICHH . ——
() S TRE-F S x ™.
" = forer wfeeT fowEL S SRR e i
(3) T BTIS YYRHRT sHHih AT IaAlher fARTR ST ITRufFhade FEgaml 7 faawar aqe &aar.

@ (31 T YYfhdie Tae TR 4 TR S0 Gafaa! STgF @i 1, 2, 3 3T 4 378 i oo aRa. &

IR ITUh! a7 I hHish STUTARARIS GEATATS T ITWARSL T HIGT. 3T THR

ST AR e ITHHIS TR BT A1 Hai[Hd TAHHIBAHR BAihd & TS TIee A FHTedsl ST,
TTHTAT Tad 1T I AU AT, A6 af wIgs U 9 -9,

(&) EATH S frarrs! vt skier ol wiew fafed soe . 1 foyarsn yeis wed ws! siie 37!

(G) T3 I HAM 0 31ed. ARGd T Jei Sul Eld. ST IR RIVIR RN ATdl SaTdl S v fodern
3T T IS, ST T TSt SR ST v TS W T STeeaT wIeR 3 T ST Tt
UyATeh S Jad. M TR a1 TRA9d UrRraeda 9 icees Ufeeard w30 R Feadl Teiehs
WA HISER 3.

(6) SIATRT THIT TG hoo SN TISdl JUR 1. TG hos W WIS T IR ST  TIRIS SR .

(7) WA TR SAY AT o Hodith T & Tl SHCANTEAT STUToh a1 a7 30T 07 fs ATe .
AU ' SUTANM TRITes Tguaidt TWaUTeaT YyTEt STew SUid STRUiAHd Tqg s, = |’
ST ITXAAH T AISITOeAT Tdh A eeh o1 SAVATST TaRT Y91 U7 qAT 04T At -

I ES L= K=

TT YITULTRATS AT fafed Soml de Hauda & WYTgRaehT STEmm=t JTow«r 3HA @
THHTH YT SHEAOT TAAATS! aTaUATH SUaTd 9 8. & d& |uuda 9t WAyt
ga/ydt, fhar Tet gvTqfaa aies RTE NI HITTATE TWRUTd Teagl a1 AT IITT
HIVTETE HRIE AT, THT Ui HO o TR ST 9 el HOMAT el JTEAA
TR FoeaT ulenued gt IRUS T Yfaay sivamersdaer rfufag-82"' adie
TASTAN THE Yo Tl Ao hRdg Hvd d56 o a6t ot wuTe Uk
TETEAT HRIEETEAT U/ fhar T0d e saR @i S g o Bge.

T o yvTurreaTet fafed ot de quuateElt @ WIRYRAERT ATUR AUl ATl B G
T[T 3T 0 HTUTRT ekl SN HHANIGETaaT, THe Tl TagTehadarisht ae
Lﬂﬁmwﬁﬁmmmmmmﬁaﬁmﬁmvmﬁgw I

HeEATaAT § o sag 99

&ah =T

i
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1. HIUA 4 IRE FETe Ao gy’ o i ?
(1) &R fEiereme A (2) fawEar sEER

(3) WERE MR TS (4) fawmmEt fareuE

Which leader described the western knowledge as ‘milk of tigress” ?

(1) Sir Firozshaha Mehata (2) Vishnubuwa Brahmachari
(3) Mahadeo Govind Ranade (4) Vishnushastri Chiplunkar

2. TRNIR SfaaienrE! T9AT IV Het gl 2

(1) feE R (2) €S or

(3) HIATEE T WS (4) FeEAE TR0

Who established the ‘anti-government’ in Maharashtra ?

(1) Kisan Veer (2) DG. Lad

(3) Krantisinh Nana Patil (4) Yashwantrao Chavan

3. TS T TS T T i SRR R 3 4R ), e e e 3
T vy TR ?

(1) W@, 1907 (2) 9N, 1905  (3) wOH, 1906  (4) Hes, 1915

In which Indian National Congress Session, Gopal Krishna Gokhale declared the aim to
achieve the colonial Swaraj ?

(1) Surat, 1907 (2) Varanasi, 1905 (3) Calcutta, 1906 (4) Mumbai, 1915

4. Tag sd=aed=T R Hivl For gl ?

1) e m (2) T SEIG WS

() vfed Jge (4) T

Who was the proponent of Mixed Economy ?

(1) Indira Gandhi (2) Lal Bahadur Shastri
(3) Pandit Nehru - (4) Rajiv Gandhi

HoAT HETE! WM /SPACE FOR ROUGH WORK
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5. ‘foeear qfech wo M Hios =t TIaa1 Sivlt et gidi ?

(1) HHIR WG RIS (2) Sl IR HeaEH

(3) TSI ¥Ig HENS (4) = e hva wd

Who established ‘Silver Jubilee Rural Training College’ ?

(1) Karmaveer Bhaurao Patil (2) Dr. Babasaheb Ambedkar

(3) Rajarshi Shahu Maharaj (4) Maharshi Dhondo Keshav Karve

6. WIS 19 I Ii=A1 AT Sedl o6l S0 siiel W (99/9) e l -

) (1)
(A) @ Fa (1) SNYfTeh Hag A SHH
(B) Tofh=A (1) <4 a1 g HIGH
(C) TN Ve WS (I11) &feeh aeamTEn g
(D) TS o (IV) SFHT T HHRE €T HI0Aret Il
(A) (B) (C) (D)
1) (@v) ) 1 @
2 @ av) @ I
(3) @ @) @O 1)
4 M) @ «av) 1
Match the following pairs I and II suitably and choose the correct answer.
(M) (In
(A) Arya Samaj ()  Father of modern Mumbai
(B) Elphinsten (I) Editor of newspaper ‘Darpan’
(C) Jagannath Shankar Sheth (III) Influence of vedic philosophy
(D) Balshastri Jambhekar (IV) Support to the establishment of Deccan Education
Society

(A) (B) (©) (D)

1) (@) 1 1@ @
2 @M V) @
(3) Wy @) @
4 @y @ av) d
7. QU39 " AGT ARG STEvdl o SurEt’’ T wivi et ?
(1)  TRTeH SATfqe § (2) . JemHRE AlaEHT
(3) STl B, Vg HERS (4) Wi foge wmst fig
Who founded “the Akhil Bhartiya Asprushyata Niwarak Sangh” in Pune ?
(1) Mahatma Jyotiba Phule (2) Dr. Babasaheb Ambedkar

(3) Rajarshri Chh. Shahu Maharaj (4) Maharshi Vitthal Ramji Shinde

oAl AT AT /SPACE FOR ROUGH WORK
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8. IV T TEEATER WINMER WALl 0T S 2
(1) et et (2) @rad gewd
(3) R geEdt (4) =irel et
Which constitutional amendment provided for state reorganisation on linguistic basis ?
(1) First amendment (2) Seventh amendment
(3) Sixth amendment (4) Fourth amendment
9. I.HLUH, TEN I Ao Ifes R hior B 2
(1) W =AmyEg st () g I«
(3) e dgar (4) TR RS
Who was the first Indian to have passed the I.C.S. exam ?
(1) Sir Wyomeshchandra Banerji (2) Surendranath Banerji
(3) Phirozshaha Mehata (4) Dadabhai Nauroji
10.  HIVRT AHT ToHE AT AaRd A= Aes 97T 7
(1) HREEYR Tl 2) wfFRR
(3) TFqETd (4) TowEeRt
In which land revenue system, an individual cultivator got transformed into the owner of
land ?
(1) Permanent Settlement (2) Zamindari
(3) Rayatwari (4) Mirasdari
11.  HIV G GeMay™ [G89as (Rent Bill) @1 F0AHE! dMeHYS Adhdi=al Gel® qifdan

feet g ?
(1) e fafew sfean TmE () 3o sEifquA
(3) SIHER STEITETEH 4) fofew sfem srifauym

Which organisation supported the farmers revolt in Bengal regarding implementation of
the Rent Bill.

(1) Bengal British India Society (2) Indian Association

(3) Zamindars Association (4) British Indian Association

FHeAT HIATEES AT /SPACE FOR ROUGH WORK
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12. 97 1985 HeAl STeEfed fAe  hEIRER Th Aewqol ST Hvft 9iig %ot ?
1) o= ) Trder st
() foorgd (4) &1 STRETS

Who published an important study on the women workers in the unorganized sector in
1985 AD. ?

(1) Sulbha Brhame (2) Nirmala Banerjee
(3) Lila Dube (4) Bina Agarwal

13. NI Faid A8 doREIeIvl HREM YRAKS HIvre fawmf e 2
(1) feag (2) IR (3) SMHTR (@) favmaEmgoRg

Which place in India has the world’s largest oil refinery ?
(1) Digboi (2) Mangalore (3) Jamnagar (4) Vishakhapattanam

14. TN {EaTedd qUHME o2 8 Wd. SR
(31) feamoameR 9% Ig ol
() IS WA TR TENLM Jawd.
(F) TSIIHI@A GU HiSdT FHIUMER 59 .
() I WHAT YHOT AFTHeS AT i garat fato faiswd Jedm.
g freer
(1) e () (2) W (9) (3) () Afor (+) (4) ()

The temperature of Maharashtra in winter season decreases because :

(A) Snowfall begins in Himalaya

(B) Northern cold winds start blowing towards Maharashtra

(C) Heavy rainfall during rainy season

(D) The Sun rays are oblique during this period.

Select options :

(1) Only (A) (2) Only (B) () (A)and ()  (4) Only (D)

HEAT HTETS JRT /SPACE FOR ROUGH WORK
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(a) o 1 s
(B) STEHCTR (I) HTeR-He
(C) fyrm IV IECIRE
(D) iRmere - @) e
(A) (B) (O (D) '
(1) (I (@ @1v) (D
(2) (Iv) (O (D) (1)
(3) (I () (V) (1)
@ @O @v) 1y
Match the following :
(A) Pune () Harishchandra
(B) Ahmednagar (II) Salher - Mulher
(C) Nashik (II) Deogiri
(D) Aurangabad (IV) Shivneri
(A) (B) (C) (D)
A= () ()  (IV) (II)
(2) (V) @ (I (1)
(3) () (I (IV) (IT)
@ @O av) amn d

16. TERTSIT=AT TN ‘A’ A1 &R S0 SSST Yo WoTGUeh! SIvar 378 ?

(1) B8 QY g (2) It Meia T Hg
OEEEIRERET (4) ARER Fg

The region shown by letter “A” in the map of Maharashtra depicts :

(1) Coal mining centre (2) Agriculture based tourism centre
(3) Orange processing centre (4) Fishing centre

- &oedT SIHMETE! AT /SPACE FOR ROUGH WORK
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17. e GY HiE, | YamE! S & AT TR &/
(1) Fawm (2) et (3) TSI

Longest, low speed and flowing through wider valley are the characteristics of |
river. |

(1) Vaitarana (2) Savitri (3) Patalganga (4) Krishna

18. RATsAl THIMHEN ‘R’ 1 13A OS0! ST WIeTeqeh! v g ?

(1) SRES W (2) W&o
(3) STeER (4) EEYRT T

The hill range shown by letter ‘R’ in the map of India is

(1) Arawali range (2) Maikal range
(3) Balaghat range (4) Satpura range

HoAT KIS AN /SPACE FOR ROUGH WORK
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19. YO U549 T Hagl o Tt ?
(1) 15 ST 1947 2) 2 SR 1959
(3) 26 TiwmaT 1949 (4) 26 SHAR 1950

When was Panchayat Raj system started ?

(1) 15t Aug. 1947 2) 2nd Oct. 1959
(3) 26th Nov. 1949 (4) 26t Jan. 1950
20. forem gitee T FH TG Ahd.
(1) = (2) il (3) ¥NIR (4) o wd

Zilla Parishad can impose tax on

(1) Pilgrimage (2) Water (3) Markets (4) All of the above

21. ‘' IR GlauFe 32 9 FoH YRS SiaUMTET S 9 7ed .| € faum wiol % ?
(1) Si. T 5ER 2) dH e
3) W. &= FwmEa (4) Tf. HIR. TdEH

Who said. “Article 32 of the constitution is the heart and soul of the Indian
Constitution” ?

(1) Dr. Rajendra Prasad (2) Pandit Nehru
(3) Prof. HV. Kamath (4) Dr. B.R. Ambedkar

22. YRdAHE Gfgyme Eoietst hivk a4y ¥ geRea afdrey Al ?

(1) fofaa dfaam (2) TH TEHE

@) O wmE (4) O@ AHFR

Which one of the following is not a Federal feature of the Indian Constitution ?
(1) Written Constitution (2) Single Citizenship

(3) Dual Government (4) Fundamental Rights

THeeAT HTHEIE! ST /SPACE FOR ROUGH WORK
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23.

10

YT T et STt 3T aRge TRAT WIGEHa YR His 378 ?
(1) ¥od &Fh 2) TsafdE rieys o
(3) SRwHRE (4) T FA

In which part of the Indian Constitution the establishment of Grampanchayat, has first
been suggested ? ' ‘

(1) Fundamental Right (2) Directive principles of state policy
(3) Preamble (4) Fundamental Duties

24,

TEIGUe! HIvT el WRa At SRiswH gaid S a9t 30! 31 ?
(1) 9o T qE& IS

(2) dUTeR faw™ wRiET

OEREIERICREEGETURISE

(4) 3fU E A

Which of the following is one of the most successful programmes under Bharat Nirman ?
(1) Pradhan Mantri Gramsadak Yojana

(2) Watershed Development Scheme
(3) Rajiv Gandhi Grameen VidyutiKaran Yojana
(4) Indira Awas Yojana

25.

=retl 2
(1) .9 |t (2) STEUE hle WiHd!
(3) &l urie wihd (4) SRRER |fd

Which of the following committees had suggested that the Sarpanch should be elected
directly by voters of the village ?

(1) V.P. Naik Committee (2) Baburao Kale Committee
(3) P.B. Patil Committee (4) Bongirwar Committee

26.

WA GiTEM qovd STfHari=l g Sl IqT awRet ?
(1) Te foeA (2) i () SreE (@) efem

Py

Where from did the Indian constitution adopt the provision of Fundamental Rights ?
(1) Great Britain  (2) U.S.A. (3) Ireland : (4) Australia

oAl AT SR /SPACE FOR ROUGH WORK
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27. GHAdSA AfHNd ‘@Wﬁ?i SRR FAEY Bl -
(&) W, 99 . MR YeEIREg SER,
(9) THM HEEE 9 4.
(%) fewamieR st
(¥) HIUEER T
(3) oTegvadar &
Ty feet
1) (&), (), (3) 1 (3) @) (3D, (@), (#), (3)
@) (3D, (), () @ @), @),
Right to equality includes :
(A) Right against discrimination on grounds of caste, race etc.
(B) Equal pay for Equal work
(C) Abolition of Titles
(D) Equality Before Law
(E) Abolition of Untouchability
Select options :
1) (A) (O, (D) and (E) (2) (A) (B) (O, (E)
3) (A ©) B 4 (©), (D) (E)

28. U1 WAl YRY, HEYYH I ARSI Hel Sl TS HIVA STYHR & 7w 2
(1) wRfvE AfGER &3 (2) YAHYER AfER &
() e FIEEIR AfreR 89 (@) —EE TRESHANE AR &
What is the specific jurisdiction of the high court allowing direct submission of a case ?

(1) Original Jurisdiction (2) Appellate Jurisdiction
(3) Record Court (4) The Power of Judicial Review

29. 1969 T TUdi=a YT 9 SEde SUULYG= TSArgHat LIl SR S0

fasrer ?
1) o= 2) TS WEY TEH
(B) TeemgeoR @) A=

Who discharged the function of the President of India on the death of a President and
resignation of the vice president in 1969 ?

(1) Dr. V.V. Giri (2) Gopal Swarup Pathak

(3) Hidayatullah (4) B.D. Jatti

T HIEEE SO /SPACE FOR ROUGH WORK
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30. WA@Y BV HiHd! TErE TS Wi weifed e 2
(1) Jodad Hgar Hidt (2) el Bgar afbdt
(3) IHaUS AEH Wit (4)  TSTHAR HiHd!
Which of the following committees is not related to Panchayat Raj Institutions ?

(1) Balwantrai Mehta Committee (2) Ashok Mehta Committee
(3) Vasantrao Naik Committee (4) Rajmannar Committee

31. FIE TS YATEd! YHomErs! SHTon= desan o7 ST YATIgAS |l HaWE ¥ A
TUIRR IR 379d. B T Fiom e &hivn ?

(1) g (2) Tifefes (3) HIH (4) A IR

Which scientist gave the following rule ? Square of time required to revolve round the sun
is proportional to a cube of distance between the sun and a planet, for all the planets.

(1) Copernicus (2) Galileo (3) Kepler (4) Tayko Brahe

32. TGN AEA S SIS BUAr 2

1) TS (2) feur=H (3) UEHH B® (4) vz
Who is regarded as the father of astronomy ?
(1) Galileo (2) Hipparchus (3) Edwin Hubble (4) Aryabhatta

33. ' TA.UH.IR.3M. A7 Hd fawaia Al & o ?
1) IS g fmd stiamEgem. ) IS g e s,
(@) ISt Lfew e AfAEgeE. (@) sSEd Wi fmd srtarge.
What is the full form of ISRO ?

(1) Indian Space Research Organisation (2) Indian Science Research Organisation
(3) Indian Static Research Organisation  (4) Indian Scholar Research Organisation

34. YA 99 MOTHR 810G AT SR SV ?

(1) SRS g g (2) SRS S

(3) UMUAR(S g3 (4) TEEEHYT

What causes a water droplet to become spherical ?

(1) Atmospheric air pressure (2)  Atmospheric humidity
(3) Surface tension of water (4) Gravitation
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- 35, WISBUh! HIveA Gertsl ST Felfd et A 2

(1) it (2) %o (3) Hu
Which of the following materials has lowest density ?
(1) Water (2) Kerosene (3) Honey (4) Glycerine

36. Ty Ty fedl. wUS :
(1) dEee doe IR YR (2) IR Al THR @<
(@) 9w g feede @ (4) O IS ITEER GUH
WWTP means :
(1) Wild World Tourist Programme (2) Waste Water Transfer Plant
(3) Waste Water Treatment Plant (4) Waste World Transfer Programme

37. fagqgea®d Juiverie AiTeiTedl TUIHT @IS IsteAT Ia¥cdT ShHTd @raT -
(31) Etel ol (9) wEwEs
(&) a1 fomzo (¥) &-fozm
1 3, @), =), () 2) @), (), (#), ()
@) (), (), (&), (&) @) &), (), (®), ()
Arrange different electromagnetic waves of an electromagnetic spectrum in descending
order of their energy content :
(A) Radio waves (B) Microwaves
(C) Gama rays ‘ (D) X-rays
1) (D), B), (©) (A) 2) (©), (D), (B), (A)
(3)  (A) (B). (©), (D) ) (©), (B), (D), (A)

38. TSI SirEl ThiZ BAHl S SEgS ST 2 T 9 IS AL
FE A .
(1) foored, gegam (2) O, S (3) foere, s (4) HESA, TEEE
During explosion of hydrogen bomb, hydrogen atoms but simultaneously
some disappears.
(1) Split, mass (2) Fuse, energy (3) Split, energy (4) Fuse, mass

HeAT HTATETS A /SPACE FOR ROUGH WORK
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39. weean sifd TSN Tl W sy Hft T ? .
1) weSRE (2 wEm  (3) e dd (4) 2R

Who is the inventor of a microwave oven ?

(1) Percy Le Baron (2) M. Singer (3) Henry W. Seely (4) J. Dewar

40. fogmr=T AT WIEIGYH!T HIVET M1 Fqdid 8% Wehd ATl 2
(1) HHE=H (2) HEEITHI
(3)  STIVAYTHIY (4) fdfsa wear=n My
Which of the following things cannot be included in the characteristics of science ?

(1) Generalization (2) Proper arrangement

(3) Experience as proof _ (4) Discovery of super sensus truth

41. I T FEEH FTHA HSUATEIR! HE ATIRAT ?

(1) w9 e (2) onfvas SeT®
(3) e SIEB (4) TR TSNS
What is used to measure minutest time with precision ?

(1) Simple clock (2) Atomic clock
(3) Quartz clock (4) Micro clock

42. ‘qeEife’ 91 GIH1 W ST AT g Y ?

(1) wH& CHE= (2) oTEEE IR
(3) W oIt (4) T

Name the scientist who coined the term ‘Robotics’.

(1) Issac Assimov (2) Albert Einstein
(3) Sir Alexander (4) Fleming

HoAT |/ SR /SPACE FOR ROUGH WORK
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43. AT o stfete Fm'-wrrtrrg? LIEEIE RS ICINIE RN
1) aAfrEsH (2) HET AAHEES
(3) TESH (4) oA

X

Human beings are protected from ultraviolet radiations of the Sun due to
layer in the atmosphere.

(I) Oxygen | (2) Carbon-monoxide

(3) Nitrogen (4) Ozone
44, @R IEga 97 fawe weam @ oS IS T ared.

(1) = @ (B) = (4) TaEE

If velo‘éity‘ of object is increased three times, its kinetic energy increases times.

(1) Three (2) Six (3) Nine (4) Twenty-seven
45. AN ST AW AL HT.

(1) 9a 9 FYPSTT (sub-marine propulsion)

(2) IR Wl THISE (frost-free refrigerator)

(3) Uehe I (rocket technology)

(4) FfqemERdl (superconductivity)

Cryogenic engines find applications in

(1) Sub-marine propulsion (2) Frost-free refrigerators

(3) Rocket technology ' (4) Superconductivity
46. UF (MM gie U fedt e ?

(1) 1nm (2) 01 nm (3) 0.01 nm (4) 0.001 nm

One Angstrom unit is equal to how many nanometers :

(1) 1nm (2)° 01 nm (3) 0.01 nm (4) 0.001 nm
FeeAT SHIUTETS 9T /SPACE FOR ROUGH WORK
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47. GO fgumier faum &3 -
faum 1 : ss/=n syfe FaE! GANTERIS AR ML=l YHE BRET HHl AOST 6.
Faem 2 : SiENfTRomes AT MRS FRET Jea.
37T |
(1) fagm 1R, fqu9@ 2 g%

2) faum 19, faam 2 A=
() = faum s
(4) T faum 9%

Consider the following statements :

Statement 1:  Evenintodays modern age the influence of unscientific temper on society
has not been reduced as much.

Statement 2 :  Industrialization has increased social security.
Now state whether :

(1) Statement 1 is right, Statement 2 is wrong

(2) Statement 1 is wrong, Statement 2 is right

(3)  Both statements are right
(

4) Both statements are wrong

48. oo, fetan, Yo g a1 € Yoy fotor @i=an aOToiel=an Jecdl shld aiar -

(1) a1, Toereel, feten, @@ (2) o, Tueee, fetan, e

(3) T, feten, fbde, @ (4) Teten, Toeel, oo, e

Arrange Red, Green, Yellow and Blue light rays in ascending order of their wavelengths.

(1) Blue, Yellow, Green, Red (2) Red, Yellow, Green, Blue

(3) Blue, Green, Yellow, Red (4) Green, Yellow, Red, Blue
49. 'TMAR FEX' 7 ITHEA _ HISTUATHES! SRS .

(1) wadie ggum (2) o g

(3) FT-uTH - (4) foHToiER

‘Geigor counter’ is used to measure -

(1) Air pollution (2) Water pollution

(3)  Seismic measurement (4) Radioactive radiations
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50. HAMHet Hed IS HIERE: fhdt d ?
(1) 900 ¥ | (2) 1350 UH (3) 1550 UH (4) 1650 UH
What is the average weight of an adult human brain ?
(1) 900 gms (2) 1350 gms (3) 1550 gms (4) 1650 gms
51. TR Qredl Sashrt el e FHedrd @ S wie R e
(1) @ 3 @) o 4 243
If a length of simple pendulum is increased three times its original length, the period of
pendulum increases times.
v 3 @ 3 @ 6 4 243
52. e UGG AU Hel AR A A el -
(1) ST (@) Thwe
(%) e (5) wifedrsh SoaTSHa
(%) A Aievh | (%) EEEH
1) (), @), @®@), @@, (®), @ F (2 @, @), ), @), (®), (%)
@) (30, (), (D, (F),(®), ([ @ @, D), (), (3), (F), (%)
Arrange the steps involved in scientific methodology in proper order :
(A) Hypothesis (B) Prediction
(C) Classification (D) Collection of data
(E) Presentation of the problem (F) Generalization
® (B, (D) (©), (A), (F), (B) ()  (B), (D), (B), (A), (©), (F)
(@) (A) D), (EB). (O, (F), (B) @) (B), (A), (B), (D), (O), (F)
53. ‘&3-fortor’ Farn vy foaeam ACTTHA v Wiet oo ?

(1) 1885 2) 1895 3) 1995 (4) 2005

When was the X-Ray machine invented by William Roentgen ?
(1) 1885 (2) 1895 (3) 1995 (4) 2005
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54, AT el SO T . , o
(1) 3fmiteR () e | () IS

Unit to measure sound intensity is .
(1) Ampere (2) Watt (3) Decibel  (4) None of the above

55. RIS T Wt s frrei o 2

(1) A AN , (2) HIUE

(3) SWIE W&IYU (4)  anfUers oS!
‘Cryogenic technology’ is related to which of the following options ?
(1) Nuclear project (2) Computers

(3) Satellite launch (4) Atomic submarine

56. TR SUGTHAHET 999 YRATT SYH 10T ? |
(1) d&gam (2) W - 11 (@) @RI -11 (4) e 1-C

Which was the first Indian mission to the moon ?
(1) Chandrayaan (2) Bhaskar-II (3) Soyuz-T-11 (4) INSAT-1-C

57. Wmamﬁaﬂwﬁwmmwﬁﬁﬁmﬁn

(1) HIURITIO 24 TH (2) HIHROYY 11 O

(3) HERUY 24 fiEy (4) HERoEY 11 T4

How much time does Sun take to complete one rotation around its axis ?
(1) Approximately 24 hours (2) Approximately 11 hours
(3) Approximately 24 days - (4) Approximately 11 days

58, YRAM GEHT SO0 ' JFAIR = diee 2010 FHH' = AESH FS FS TS B 2
1) e feeett 2) @& @) wE (4) ETR

Recently India took part in ‘Nuclear New Build 2010 conference’ organized in
(1) New Delhi (2) London (3) Paris (4) Hong Kong
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Torea fafHet=n ‘ wereriern fagia’ Aigom s SivEr ?
(1) TSfaA & (2) IR IFTRRA
(3) THEA (4) few wfeaw

Which scientist proposed the ‘Big Bang theory’ of birth of Universe ?
(1) Edwin Hubble (2) Albert Eienstein
(3) Humason (4) Steephan Hawkin's

60.

Iy TR IR Siee orqaT YRemHt Ay .
(1) Sieoe §d Yyider FH Tgar

(2) Sieoe |a Juiden wra THal.

() Gﬁg@wﬁﬁwmm

(4) Sisow ¥d VAT TNTHRISAHT ST,

When resistances are connected in parallel, resultant resistance is
(1) less than all the resistances connected

(2) more than all the resistances connected

(3) equal to sum of all the resistances connected

(4) equal to division of all the resistances connected

61.

mmmmmmmmwwmmmv
1 25 2 %20 @) T10 4) T 100

Which denomination note in paper is to be replaced by the Reserve Bank of India by
plastic ?

1) %5 2 T20 @) %10 @) 100

62.

Feqe (fafda) et o SR AT FHEd ?
(1) Jga= H (2) RO FE () sy R (4) WM

On which factor does the quantity of derived deposits depend ?
(1) Liquidity ratio (2) Securities (3) Bank rate (4) Repo rate
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63. TRRISTE! 3T TRo 2009-10 TIR, TN :
(1) K I 91 FFAATIR T 54,867 T

(2) @ I T 6,92,749 HIt T,
(3) W< 2009 3T §k It T 10,36,974 HIet eI
(4) Thewd |

According to the economic survey 2009-10, Maharashtra state has :
(1) Per capita income of I 54867 (at current prices)

(2) Gross income of ¥ 6,92,749 crores

(3) At the end of Sept. 2009, bank debosits of ¥ 10,36,974 crores
(4) All the above

64. 2007 - 08 WEl WRATAT TRV TG IS SUR! HITRAT SCAGATHN/ IR ANeT Haird S g ?
(1) 3997F 3 (2) wigTH T
(3) Wifeaw 3= (4) Traia gedia Same

Which of the following products/goods had the largest share in India’s total imports in
the year 2007-08 ?

(1) Consumer goods (2) Capital goods
(3) Petroleum products (4) Export related products

65. WIBIGUH! HIUT I ARATT 1990-91 WEA 5.6% TET 2006-07 TEA 16.4% T Frafda 9@
HSt Bt ?
(1) H, srefem ' (2) o IdRE T (3F)
() AT gy (4) onfitm faweeie U

To which of the following countries, India had increased its exports from 5.6% in 1990-91
to 16.4% in 2006-07 ?

(1) Japan, Australia (2) OPEC
(3) (E U) European Union (4) Developing countries of Asia

66. 2006 - 07 #EA WA EW faeelt s <.t =0 T A
(1) 252 TFk (2) 195 Tk (3) 102 TFk (4) 40.6 =Fh

In 2006-07, India’s total external debt was percent of G.D.P.
(1) 25.2 percent (2) 19.5 percent (3) 10.2 percent (4) 40.6 percent
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67. 3N ARITHIST ITANTA STHSS PIN F4 3T ?
(1) T lew ge 2) HEHITF Hw HE
(3) WAl e e (4) @ At S
What is meant by PIN for the use of internet banking ?
(1) Personal Identity Number (2) Professional Identity Number
(3) Private Identity Number (4) Private Investigation Number
68. WU Hivrc faahrofl, STfae SR Feee WAuAeee Here! IRug Sl e ?
(1) () = (3) Fafmr (4) famR
Where was the sixth Ministerial Conference of the WTO held ?
(1) . Hong Kong (2) Uruguay (3) Geneva (4) Singapore
69. TS Fga IR TR - 11 (2005-06) TIR AEILG SAGHAT T B
(1) 1.5 (2) 3.1 3 21 4) 1.0
According to National Family Health Survey-III (2005-06), fertility rate in Maharashtra
state was .
(1) 1.5 (2) 3.1 3 21 4) 1.0
70. RATE HRIGEMITeTE! YT ShIvHgT Hal Sid ?
(1) YRare 9q99 (2) RATE Tl
I ERCELEIl (4) SEEREY FHEieg faur
Who appoints the Accountant General of India ?
(1) Prime Minister of India (2) President of India
(3) Finance Minister of Centre (4) Department of Auditing
71.  YRA el NS 3 Aehicg=aT HTATSaT=! T9T SHIveT a6 Sl 2

1) 1976 ) 1990 (3) 2001 (4) 2005

When was the office of the Comptroller General of Accounts established in India ?
(1) 1976 (2) 1990 (3) 2001 (4) 2005
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72. WHRA T Hoo! 9 (ST AT TR FISHT IV ?
() 6599 @ WEE FANEe AT <tel 10 el 9= Aiwd oo 9.
(i) SF gETIHEH Rt S fiesd TR, @i AR,
(ili) S T TRt S99 fesd AR @@ Aed
(iv) qoRI: g TER [HA
(1) SR & A (2) 7 wsflert S
(3) guIRa U9 9= HIY Al (4) YU A
What is the name of the scheme, having the following features ?
(i)  persons aged 65 years and above get free 10 kg food grains per month
(ii) individuals who do not get pension, given help
(i) persons who do not receive pension from the state Govt. after retirement get help.
(iv) wholly sponsored by the Central Govt.
(1) Antyodaya Anna Yojana (2) Nav Sanjivan Yojana
(3) Sudharit Gram Dhanya Kosh Yojana (4) Annapurna Yojana
73. WY HEd HSUFH 2010 - 11 9 33H AT HIUA B ?
(1) ST T 3000 HETD A2
2) @ efEErEE (waraet) FHH w0
(3) TS 2011 URA T FH HiEdl SHS A
(4) I FHIURE T
Which of the following was the highlight of the Union Budget, 2010-11 ?
(1) X 3000 crores allotted to agricultural sector
(2) Fertilizer subsidy reduced
(38) To implement Direct Tax Code from April 2011
(4) None of these
74. WSGUH! HUQ FE, FETHE GROT T 2

(1)

B ETu| () fawsa (3) faam (4) TR

Which of the following is not a function of the Budget policy ?
(1) Monetization (2) Allocation (3) Distribution (4) Stabilization
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75. UNDP A 2010 9gA A4 e sgaiomed Siv FHosiamn 9 e Fol 38 ?

(1) General Empowerment Measures (2) Gender Ineqaling Index

(3) General Poverty Index (4) Literacy Ratio

From 2010, UNDP is using criteria for preparing human development report.
(1) General Empowerment Measures (2) Gender Inequaling Index
(3) General Poverty Index (4) Literacy ratio

76. WOIGUH! HIUMN ToTderd IGuIrET U™ 318 ?

(1) VIHREEHEE (2) et fowm

(3) fafte getan srefswon (4) o= ESde a6
Which of the following is the remedy to fight inflation ?

(1) Population growth (2) Economic development
(3) Excessive deficit financing (4) Increase in money supply

77. JU (EURO) I & U IR KU1 S¥N=t e fohat a1 ?
1) 15 (2) 20 (3) 10 (4) 14

How many countries use EURO as a currency ?
1)y 15 (2) 20 (3 10 4) 14

78. HE 2008 A& MRATIS WIS eh &S Shichg ST THY FHSIGRESAT TH AT AT
FHRaaT fohal <ok grar ?
(1) 44.6 TFH (2) 564 THh (3) 35.6TFh (4) 492 <Fh

What was the percentage of priority sector lending to total loan by the Indian public
sector banks in March 2008 ?

(1) 44.6 percent (2) 56.4 percent (3) 35.6 percent (4) 49.2 percent

79. ¥ TR HIUAI FT g9fad T TGS Hd ?

(1) e (2) he ST Teh
(3) EEE F (4) smEE-faE =
Which tax is imposed and collected by the state government ?
(1) Octroi (2) Central excise duty
(3) Tax on profession (4) Custom duties
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80. T 1966 WA YRAM TIAT AT Thdl THFRIT Hos ?
(1) 365 2) 20 3) 50.5 4)

In May, 1966 by what percentage the Indian Government devaluated the Indian rupee ?
(1) 36.5 (2 20 (3) 50.5 (4) 80

81. 2008 W&l WMTfae fafdid SRaren ame T Brar ?
(1) 113F (2) 213TFh (3) 52<TFh (4) 17T

What was India’s share in the world exports in the year 2008 ?
(1) 1.1 percent (2) 2.1 percent (3) 5.2 percent (4) 1.7 percent

82. HIURA HIHA HISTNE HISIa Sieh fohwd i (WPI) FTeUarais! sanay et ey
*S?
(1) &R |feat (2) SS9 dffet
(3) heHT HiFdt (4) ~reew wiid

Which committee has recommended changing of the base year for calculating the
Wholesale Price Index (WPI) to measure the inflation ?

(1) Rastogi Committee (2)  Abhijit Sen Committee

(3) Kelkar Committee (4) Narsimham Committee
83. TEHD! CYABI TS dT&i THAY Sidl i S 37T,

(1) 3Tadt @& (2) IE WEA

(3) i WEI=Al 4) =o

Revenue budget covers those items which are of '

(1) Recurring nature (2) Non-recurring nature

(3) Capital nature (4) All the above

84. WISIGUH! fqehsrd A= 07 IV 3Td 2

(1) e (2) @atdea

(3) I HEI (4) o wd

Which of the following are the merits of decentralised planning ?
(1) Efficiency (2) Flexibility

(3)  Public Participation (4) All the above
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85. WIGIAUH! HIVET faRIHLIT=T <gIeal Yodive de-oa] THareumed gaitues feen gan ?
(1) vt fawm (2) zEw g @i
(3) 3= (4) WIS qa

Which of the following development heads had the highest share of public outlay of the
tenth five year plan ?

(1) Rural Development (2) Industry and Minerals
(3) Energy (4) Social Services

86. Tigre Sk SR Hovean yaHRom=! afiree .
(31) © AR AR T 4.5%
(F) W 8%
(%) fgd @M 7%
(8) I™IUIG T 17,000 i v foaqeasama .

Wﬁﬁ?ﬁi :
HEECINCINC)) 2) @), (&), (¥)
3 @), (), (3 @ (), (@), (3), (31)

What are the features of credit policy declared by the RBI ?
(A) CRR rate 4.5%

(B) Repo rate 8%

(C) Reverse repo rate 7%

(D) X 17, 000 crores will avail in credit market

Answer options : '

1 (A, B, © 2 () (©), D) |
3y (©), D) (&) 4) (D) (©), (B), (A)
87. WiHGIH! FIUR URY AT g dH9 R ?
(1) e R (2) T HR
(3) anfde ¥Rw (4) Sl o
Which of the following is the policy of the Reserve Bank of India ?
(1) Monetary Policy (2) Fiscal Policy
(3) Economic Policy (4) Education Policy
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SUS 3 - =1 T @ WSl @Ie JH - ,

(37) % ViSTOT™ TEHU YA A SFEEET 5.5% THq 31 WE 2015 FER
3R

(9) ¥ A Hisaom™ T 11.5% wid 31 A 2018 SRR =A9AR TR,

(F) e wraEt/ JaavEsae! fus Afgn yris 8.

() form S Wi &1 2% Va7 F9 STAVIR .

I IW

D &), @, ) (2 (=), (%), (3) @) (), @ @ &)@, )

Basel 3 - main provisions are

(A) Bank should raise its capital ratio upto 5.5% of its total turnover upto
31 March 2015.

(B) Bank should raise its capital adequacy ratio up to 11.5% until 31 March 2018.
(C) There should be differential risk weightage for banks investment or loan.
(D) Differential risk weightage should not be less than 2%

Answer options :

1 O @@ 2 OO B @ O @), 6 @ (© 06) @A

89.

STHHE T[TV HIVFAT TR ThiraT S Iond gt 2
1) IIFS ARRIRETY 3) g (4) I BT G

What is the effect of inflation on the share investors class ?

(1) Favourable (2) Unfavourable (3) Negligible (4) None of these

90.

TIAGYH! HIAT I 14 TG TP AR S TLIIR F1S ?
(1) 1951 @) 1969 () 1991 (4) 1995

When were the 14 major private commercial banks nationalised ?
(1) 1951 (2) 1969 (3) 1991 (4) 1995
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o1 Y (frma Scusr)
ET (aifsqsed + Seql) -
1) fE= aman (2)  OT eTHar
(3) UM IYFRT &FHan (4) TSTH! HIURE TR
RIS
ET ————
Where, Y is crop yield, ET is evapotranspiration ?
(1) Irrigation efficiency (2) Water efficiency
(3) Water use efficiency (4) None of the above
92. T S TR TG Felld el G T,
1 T (2) = (@) dig (4) S
Among the following cereals, i grains contain the lowest proteins.
(1) Wheat (2) Maize (3) Rice (4) Barley
93. WERIRW 'Hd qHN 99 Y I’ T g H0A 3.
(1) 2000-01 (2) 2004-05 | (3)  2005-06 (4) 2006-07

In which year was the ‘Sant Tukaram Vana-Gram Yojana’, started in Maharashtra ?
(1) 2000-01 (2) 2004-05 (3) 2005-06 (4) 2006-07

94.

T 1996 - 97 WIS TR 197 SUSGE A STHURITAT =T o1 &4 2011 - 2012 Hiet
FTUTATS! T fehdl <ot T e 2

(1) 225 (2) 260 (3) 298 (4) 325

How much demand for food grains, for consumption, in million tonnes would there be in
2011-2012 compared to that of 197 million tonnes during 1996-97 ?

(1) 225 2) 260 (3) 298 (4) 325
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95, 3Tdl WEHETAT S5d SR dd TESdT St s it Toes wus

(1) 3 T T (2) IS M TR

(3)  STEHETR 3Ifur If¥reh (4) TENORE ST iR

The home districts of Dangi breed popular in heavy rainfall tracts are districts.
(1) Thane and Raigad (2) Raigad and Ratnagiri

(3) Ahmadnagar and Nashik (4) Ratnagiri and Kolhapur

96. HITd HIE YT HESHT o A9dTd ?

(1) 2 | (B) H© (4) T (AE FHY)
Which fish is seen in the middle layer of water ?
(1) Katala (2) Rohu (3) Mrigal (4) Grass carp

97. WA HATIR O S HROTTHTS, o nHfie T wed TARSH, 99 Wid
aTifor SieatgyaTsan HrRfESt ard 33 vk,
(1) VII (2) VI 3 1Iv 4 Vv
As per land capability classification, areas of class can be used only for
recreation, wild life and aesthetic purpose.

(1) VI @) VI @) IV 4) V

98. TR, FWI F TR TfAUhSIS Teian aifie UGl IUE JaE (SR, B.H)
ATR.

1) 19 (2) 25 @) 9 4) 15

The average annual utilizable flow (M ha m) of Godavari, Krishna and other rivers in
south is .

1 19 (2) 25 ' B 9 (4) 15

99. =T YUT=AT IVl YohRIe! YR Y9 woram ?
(1) vohE! Yu (2) T g (3) UoHE gq (4) WIS TBHE! ga

Which type of soil erosion is called as initial stage of soil erosion ?

(1) Gullyerosion (2) Rill erosion (3) Sheet erosion  (4) Ravines
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100. GISSIR FOR T el qu Aiafavarard Feem s @ o 2

(1) s (2) = (3) FrE (4) T

Which of the following crops is efficient and suitable for checking soil erosion ?

(1) Sorghum (2) Maize "~ (3) Cotton (4) Groundnut
101. ‘T Hfy fam Jemn’ sen T qIat & o

(1) 2007 - 08 (2) 2005 - 06 (3) 1990 - 91 (4) 1999 - 2000

When was ‘Rastriya Krushi Vima Yojana’, started in our State ?

(1) 2007-08 (2) 2005-06 (3) 1990-91 (4) 1999-2000
102. YUEfdd 979 fagia o ?

1 kt¥ 2) 1.6 (10 t/I)2

n X5 () 16 (10 /1)

(3) WRt+(1-W) +f(u), (e,—ey) (4) WRn+(1-W). f(u), (e,—ey)

What is the Modified Penman formula ?

1 ktF 2) 1.6 (0t/1)?

0 X5 @) 16 (10 /1)

(B) WRt+(1-W)+fuy (e,—eq) 4) WRn+(1-W). fiy (e,—ey)
103. UM o & faehTq Hee (NFDB) TE&AHH IS 3R 2

(1) 7t foeed (2) e @ ™ (4) W

Where are the headquarters of the (NFDB) ‘National Fisheries Development Board’

located ?

(1) New Delhi (2) Hyderabad (3) Pune (4) Cochin
104. & GErET 9IRS Geg@ Sca=Mardral SRihH Iial & ST R IR it anfor

et feer a0t a1 wEaTeT SISt T W, ST T TR ?
(1) USRIl 4R (2) & "R
(3) TRYS HRu (4) SlSdH! RO TR

The use of Government's spending and revenue producing activities in order to achieve
specific objectives of full employment with price stability refers to

(1)  Fiscal policy (2) Money policy
(3) Revenue policy (4) None of these
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105. HES=A @AW fehdt 99 279d ?

30

(1) 5d8TF*k 2) 057 103"

(3) 109 15TF* (4 0054 01
What is the nitrogen content of fish manure ? |
(1) 5 to 8 percent (2) 0.5 to 1.0 percent
(3) 10 to 15 percent (4) 0.05 to 0.1 percent
106. TR HIVAT ST GIeFAHHS dor= FHor Stfee 318 2
(1) TretEs - (2) ST
(3) g AERd (4 fexsh
Which variety of coconut has higher oil content ?
(1) Philipine ordinary (2) Banavali (West Cost Tall)
(3) Laxdwip ordinary 4) TXD
107. 9RAWER ST YU gfaas] e 2 9.8, Al 9 S,
(1) 11.0 (2) 16.35 (3) 20.0 (4) 35.21
The estimated soil erosion loss taking place in India is t/ha annually.
(1) 11.0 (2) 16.35 (3) 20.0 (4) 35.21
108. VT FHRA TIENT 950 7 THE FTHRAS Tl TUIMET a1 Jroamel feer g ?
(1) Bu/RgE® TS0 2) 1 EH/IgEF TS
(3) wIHE (4) S
Which environmental variations are constant from one animal to the next in the same
group ?
(1) Random (2) Non random
(3) Genotypic (4) Genetical
109. S o/ gR SfiATdie qoft wive e 78 9970 S ?

1) == (2) Qe (3) oiEH (4) TSR HIUER T
Soil moisture content measured through Gypsum blocks is expressed in which unit ?
(1) Volt (2) Celcius (3) Ohms (4) None of the above
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110. 3 @9 IR =
TR0 37 ()
@) IR T T ])
THIT 3¢9 ()
@) ottt seaETEGE @ Q)
THU IE R)

®) s Riaee 3o = @)

THT IcqreA ®)
) & IeqeAr fhed (%)

Benefit-cost ratio =

Total income (%)

1) Total expenditure in production (%)

Total income (%)

(2) Production expenditure per hecture (%)

Total income (%)

) Production expenditure per quintal (%)

Total income (%)
4) Cost of main produce ()

111. foaws ¥ 9 Hior Fivgamm (ieorEds) 89 Aied ?

(1) wwf 2) FRS/IAMFRE
(3) U IWHIHEHY 4) 7 wfcaH

To which agroclimatic zone custard apple is categorised ?
(1) Temperate (2) Arid/semiarid (3) Sub tropical

(4)

Tropical
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112. WEGts! SV e SaH o fawamn frred w62
(1) dmferst 2) WSEETER (3) fewgme=

Which of the following is not a branch of Horticulture ?

(1) Pomology (2) Floriculture (3) Tissue culture (4) Olericulture

113. WIEBUH! HI! SISt Tt 3R ?
(31) (7)

(1) e EGE)

() RS HiaFs

¢) HN a1

(4) 9@ @I YREXI 3T

Identify the wrong pair :

(A) (B)

(1) Mango Hopper

(2) Coconut Bud rot

(3) Cashew Root and shoot borer

(4) Rice Steam borer bittle
114. T fIHTan ST SRR 3O FeT ?

1) =M 2) s @) wRd (4) S

In which country was the rice first cultivated ?

(1) China (2) Brazil (3) India (4) Indonesia
115. HeRTLA SV fahrd S/ IR A= a0 Fol Sl 2

(1) v (2) =e (3) & (4) s

Contract farming is adopted for which crop in Maharashtra ?

(1) Rice (2) Grapes (3) Potato (4) Mango
116. ‘S’ (TH.ARIM) WA SPEEHET TG0 HIVRN WA T Ht 2

(1) smf@ (2) fazds (3) WRITEE (4) <. A

In which country SRI technique of rice cultivation got evolved ?

(1) America (?) Switzerland (3) Madagascar (4) S. Africa
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117, AT T et ST AR ?
1 W @ ¥ @) v

Which of the following is a variety of Banana ?

(1) Kesar (2) Nendran (3) - Umran (4) Rajapuri

118. 31y gY URY 9IRAA TR ST o ?
1) < (2) TR (3) YT Hid (4) HIHE

Which is the high milk yielding Indian cow breed ?
(1) Jersey (2) Geer (3) Red-Shindhi (4) Kankarage

119. TR fEa T ST a0 v ?
1 fea-fear  (2) -8 (3) &t fawe (4) fewar =mw

Which is the green coloured gram variety from Maharashtra ?
(1) Vijay - Hirwa (2) D-8 (3) Hirwa Virat (4) Hirwa Chafa

120. ST SifeRoT=AT SMER (ST Sftn €8, 1968) YRAMER THUl ad WgaTd YR ol 7
(1) 18 2) 20 (3) 16 @) 22

As per the (Champion and Seth-1968) classification of forests how many important forest
types are there in India ?

(1) 18 2) 20 3) 16 4) 22

121. fedeR 2011 982 WHGIH! FHIV TERTE FT4 &1 FHMHE gias=r R e ?
(1) TAHE A (2) g e
(3) ERIET STYd (4) <SR RIS
Who won the prestigious Maharashtra Kesari Award for wrestling in December 2011 ?

(1) Narsinha Yadav (2) Atul Patil
(3) Khashaba Jadhav (4) Chandrahar Patil
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122, YR i qRe=n seaaval €7 2012 41 a6 o fee @t ?
(1) =i g s | (2) . TEE
(3) . AEEArET (4) I WioEg YORET
Who has become the President of Indian Economic Association in 2012 ?
(1) Narendra Jadhav (2) C. Rangrajan
(3) Dr. Manmohan Singh (4) Dr. Bhalchandra Mungekar
123. 3ieRIsR 2009 7L T TN ISR Uit STHSITS RA T{RA Sid o,
(1) ek A (2) SlowH B =@ (4) R ®N
In October 2009, _ was declared as the National aquatic animal by the Govt. of
India. '
(1) Shark Fish (2) Dolphin (3) Whale (4) Star Fish
124. AfEe IR AUET fa9e Asaran ad fdeadl Svam Aum=n faaywu qusrEEt 3 2011
e} Tl S wvAE e ?
(1) YI& &R . (2) WS @A
(3) TeEg YeRa (4) TEa YR
Who was selected for the Chitrabhushan Award in June 2011, which is given every year
by the Akhil Bharatiya Marathi Chitrapat Mandal ?
(1) Subal Sarkar ' (2) Saroj Khan
(3) Bhalchandra Pendharkar (4) Vasant Penter
125. S[7 2011 &4 30 SR WX YEvarsAl ©q8q Tor d| a8 reryd fesen faswa FHfwaren

M FAtes SIES TWHd ST
(1) w9 AE (2) A HUH () <@ famm (4) 33w
In June 2011 _ from Kehiya broke the 30 year record in 30 thousand meter
running in Classic Diamond League competition :

(1) Mozes Mosop (2) Agnes Keprop (3) Deres Chimsa (4) P.T. Usha
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126. T $TE AT BIORAT TREATERIG STl UISUATHIS! She TR Saehid |
FOR R ?
(1) e HEa HI-SAEHTH §X
(2) TS WES HI-ATEHE HX
(3) W FER FH-HASIA X
(4) Tl TR H1-ateR e

The Central Government is going to set up to check the misuse of internet in
anti social activities : B

(I) National cyber co-ordination centre

(2) International cyber co-ordination centre
(3) State cyber co-ordination centre
(

4) Multi purpose cyber co-ordination centre

127. ‘fie M’ Q&R &g e S
(1) &= e (2) TF A
@) fSee aieg (4) dIIq wfirdt
‘Nirmal Gram’ award is given by
(1) Central Government (2) State Government
(3) Zilla Parishad (4) Panchayat Samiti
128. 37 guaT fadaeE S AAHS@N 1 IREH el .
(1) 19 fed=ax 2011 2) 18 fedax 2011
(3) 2 SmHad 2012 4) 1 HgER 2012
The Food Security Bill was passed by the central cabinet on
(1) 19t December 2011 (2) 18t Deéember 2011
(3) 2"d January 2012 (4) 1% February 2012
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129. TEGUH! B TF S1. AN, 1ge HoM A foleadd R ?
(1) =i e
(2) a1 3ff® w
(3) e e sttt ofe fears] SHishel
(4) sAfE=HT of5 wATaS AvH
Which book has not been written by Dr. A.P.J. Abdul Kalam ?
(1) Turning Point
(2) Wings of Fire
(3) Indira Gandhi’s Emergency and India’s Democracy
(4) Envisioning an Empowered Nation '

130. FEN oY AU ST 9 3TEad Hehd e WIGIGUh! HIvd 311 ?

(1) www.mahasec.com (2) www.mahaelec.com
(3) www.mahacomm.com : (4) www.mahastate.com

New updated website of Maharashtra state election commission is
(1) www.mahasec.com (2) www.mahaelec.com
(3) www.mahacomm.com (4) www.mahastate.com

131. ‘Noida’ a1 S 0l 714 fee
(1) A i et fasm e
(2) T sArEen siEnfen fawE i
(3) T i@ e famma e
(4) e e st fawma Wi
Give the correct full form of ‘Noida’ :
(1) Northern Orissa Industrial Development Authority
2) New Okhla Industrial Development Authority

(
(3) New Okhla Industrial Development Agency
(4) North Okhla Industrial Development Authority

132. ¥ 2010 S FHIOTTIR Me3d SO HSiAed Taid HH GUaL HIve 9me 7R ?

(1) s 2 = (3) ESHfeE (4) oTEE

Which country records the lowest average rate for school going children as per survey in
2010 ?

(1) India (2) China (3) Indonesia (4) Thailand
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133. WRA HRHT el T AT ASTIR 31 ST HRTgT OF] At 2

(1) 2 Twgart 2006 (2) 2 HgaArt 2005

(3) 20 HgAR 2006 (4) 2 SRS 2007

Since when has Mahatma Gandhi National Rural employment guarantee scheme begun
in India ?

(1) 2nd February 2006 (2) 2nd February 2005

(3) 20 February 2006 (4) 2nd October 2007

134. YRS Ufed AfesT AT HIven Teq1d 38 ?
(1) ¥ERE (2) SAgYRW (3) YW (4) TSR

Where is the first women court in India ?
(1) Maharashtra  (2) Andhra Pradesh (3) Uttar Pradesh (4) Gujarat

135, 'HAEN' 9@d 2008 - 09 d 2011 - 12 A1 T IN{dIe HERIEH Bl Saocal hiis! Tuiem™ Joet
FHTHTE FI T TATUET AT ST |

(31) STYYRY, HEAW, T (F) IW YW, 9. IS, FARLH
(%) s sdTe, IRGEs (®) e, afyasrg, fasr
FIUA ST TSR 3R ?

1) () &K () (31) suftr ()

(3) (30, (=) aufe () @) (=), (3), (%) 301 (¥)

The progress in completed works in the state of Maharashtra of MGNREGA during
2008-09 to 2011-12 is less than that in the following states :

(a) Andhra Pradesh, Madhya Pradesh, Gujarat
(b) Uttar Pradesh, W. Bengal, Karnataka

(c) Haryana, Chhatisgarh, Jharkhand

(d) Rajashtan, Tamilnadu, Bihar

Which answer is correct ?

(1)  (a) only (2) (a) and (b)

(3) (a) (b) and () 4) (@) (b) (c) and (d)
136. TOIGIHT HIMS g ' IRA T [TEHR T8I0 FIUIM AT 3R ?

1) TS FoW ) g s

(3) dE Yewia (4) TA.UH. g

Who is the last recipient of the ‘Bharat Ratna’” award ?

(1) A.PJ. Abdul Kalam (2) Bhimsen Joshi

(3) Pandit Ravishankar (4) M.S. Subbulakshmi
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137. 9RGTE UTHIOT 9 IR STdte et Aieaisnial qoid: e o Seemga a1t ?

(1) ST 2010 (2) 7 2011 (3) 9 2011 (4) SMe 2012
When has total free service for pregnant women in urban and rural areas begun in
India ?

(1) June - 2010 (2) June - 2011 (3) July - 2011 (4) January - 2012

138. 9 2012 HLA URAS W AY AT FI0AN NS WA TeHIAS e o’ wWid
gaviaes ®ivi St ? |
1) TRA TS (2) FSsz Fiaw
(3) Sf. MITEHEH (4) TEFRS HegH
Who won two Gold medals at the Solo International Sand Art’ contest held in Marbella
Spain in July 2012 ?
(1) Sudarsan Pattnaik (2) Kulandei Francis
(3) G. Gopal Krishnan (4) Michael Phelps

139, FIT 3 T st i A S SR w0 o ?
(1) W (2) O (3) W (4) <o snfte

Which country has been excluded from the list of polio affected countries by the World
Health Organization ?

(1) Pakistan (2) Iran (3) India (4) South Africa

140. YRAK® Gaifues T O] X FIvR I3 SR 2
(1) ¥ENE (2) HAAYN @) sifewm  (4) TS

Which state ha.\s the highest foetus mortality rate in India ?
(1) Maharashtra (2) Madhya Pradesh (3) Oirissa (4) Chattisgarh

141. OLED ®UM -
(1) Organic Light Emitting Diode (2) Organic Linear Emission Diode
(3) Organised Light Emitting Diode (4) Oceanic Light Emitting Diode

OLED stands for :
(1) Organic Light Emitting Diode (2) Organic Linear Emission Diode
(3) Organised Light Emitting Diode (4) Oceanic Light Emitting Diode
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142. SFyfafieia (Fefya) sfafm 2010 =1 F1E1 10 AR 2011 IHA DH] FHI0GE TS

ToStH! HIM HeEtd g ?

(1) Toamm faarveasme ARew

(2) SIIgfad Sl SHESA faurHeame STRET0
(3) 3 WIS YR ARTREGIAT HAgHTaT AfHR
(4) TAEH HLWEAT B es@us Afar

Peoples Representation (Ammendment) Act. 2010 which came into force on 10th February
2011, is related to

(1) Reservation of women in Legislative Council
(2) Reservation to SC and ST in Legislative Council
(3) Right of voting to N.R.Is

(4) Compulsory Photo ID Card for voting

143.

AfEe IR 7S Aea-TRuC=AT a4 Quard AU 2011 91 Siad 1Rd &R Gotedat
HIVMST T ST ?

(1) YR 9EER - S RoeR 2) fama ame

() T deawat (@) SR FITSRET G

Who is honoured with Jivan Gaurav award for 2011 by Akhil Bharatiya Marathi Natya
Parishad ?

(1) Prasad Savkar - Jaymala Shiledar (2) Vinay Apate
(3) Smita Talvalkar (4) None of these

144. ST SIS GRET FEAT TG FHIORAT Yiee UM G 9 -

1) feem () fee @) W 4) et
Name the first country to establish an institution like Lokpal :

(1) Britain (2) Sweden

(3) Russia (4) United States of America

145.

.Wrﬁaﬁwmﬁﬁgﬁawkﬁ@amﬁawwﬁm?

(1) S, g S W IRy (2) fosr, ofem sme suftn sam
(3) USRUM, TERIA ST HeRrese (4) e, iguRy N e

Which states of India have derived maximum benefits from the Green Revolution ?
(1) Punjab, Haryana and Uttar Pradesh

(2) Bihar, West Bengal and Assam

(3) Rajasthan, Gujarat and Maharashtra

(4) Tamilnadu, Andhra Pradesh and Kerala
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146. TRRTET=N faumafives fadeh 94 79 =vA feder 2011 7 @OGtH! HomE e

1A ?
(1) fodg aEe (2) TRTY @™
(3) HHHRH FSH (4) UHSH FHeH

Who was elected as the opposition leader of the Maharashtra Legislative Council in
December 2011 ?

(1) Vinod Tawade (2) Eknath Khadase
(3) Bhausaheb Fundkar (4) Ramdas Kadam

147. (T3 YARNEET $SXACER Hhoed] ARGV ' TH.H.TH. ' soRiHe daie (3.fdeie) =[ =
o ol Shegt I Yo BAGAA I hel

(1) 4 Thgard 2012 (2) 6 Hgard 2012
(3) 8 HgARt 2012 (4) 6 A 2012

From which date has the Railway Ministry started granting sms as a ‘E - Ticket’ for Railway
reservation ?

(1)  4th February 2012 (2)  6th February 2012
(3) 8th February 2012 (4) 6t January 2012

148. 15 U@ 2012 TS HIFT ¥ROTG GEL SHGT HIOA S 61 T@ gt -
(31) mERTST faarees aifafta 25 feumdt amit s w= 2o
(&) TedaX 2012 HEIFd HERI Sioiared HRITEHT qod L.
(%) 3y, TEHEN, HES AT IIHT TSfHI IS RSl fHesad 0.
(%) 9@ wfed sr@eyn dis v 30 s 2R,

FHIvrd) faam aRiET e ?
1) (&) (2)  (=1) 3for (=)
(3) (&) i (F) 4) (3D, (F), (F) =for ()

What are the main objects of the 2"d Lake Taping of Koyana Dam that took place
on 15th April, 2012 ?

(a) Utilization of extra 25 TMC water of Maharashtra quota

(b) To make Maharashtra free from load shedding up to Dec. 2012

(c) To benefit the Tembhu, Takari, Mhaisal Lift Irrigation Schemes

(d) Continuous production of electricity through out the year

Which statements are correct ?

(1) (a) only (2) (a) and (b)

(3) () and () (4) (2 () (9 and (d)
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149. SRANIS Se& Tedmal HEAws ULy faeummed oa Ivarg 797 3% ST :
(1) o Ta: 9 AR AN
(2) q HTSSileTg TEIHA FHAS
(@) 1 TF fafuvear=n aits q9rRR 99R owde
(4) T Y T faftriesren & 9vrRE Y dgHd g e THe.
The chief minister of state in India is not eligible to vote in the Presidential election if
(1) He himself is a candidate
(2) Heis a care taker Chief Minister
(3) He is a member of Upper House of State Legislature
(4) Heis yet to prove majority on the floor of the Lower House of State Legislature
150. __ & YRAe IfEe! MeEe ®oe Yal QUK HIAR Sl 13! R,
(1) Fmatsar (2) NTWETE. (3) =HEHA (4) TUs®
Which company has become the first in India to render mobile vallet service ?
(1) Idea (2) BSNL (3) Vodafone (4) Airtel
151. 7RI A SHUIRY STHdl HIor ?
A B C D
1 A (2) B B C (@ D

Spot the odd figure out :

BEBE

1) A (2) B @ C 4 D
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42

Tfee S ISERETE Sy U1 91 YSHE e, wemde fawgrean foswkolt A wata frae -
ACEG : BDFH : : JLNP : ? :

(1) KOMQ (2) IKOM (3) KMOQ (4) IKMO

The relation between next two terms is the same as in the first two. Select correct alternative
in place of the question mark.

ACEG : BDFH ::JLNP:? . ;

(1) KOMQ (2) IKOM (3) KMOQ (4 IKMO

153.

X TEACHER 71 W=t Gifie fodia LMKJNMP 31 fofeet 91d), @8 HEART ¥iss 41 fofea
SIE, “

(1) NMAPL (2) NMPKL (3) NPKML (4) NMKPL
If TEACHER is coded as LMKJNMP, then how will HEART be coded ?
(1) NMAPL (2) NMPKL (3) NPKML (4) NMKPL

154.

Tl Wishfdsh WG PURSE & W 0SO0Z 1@ fofget Sl o1 9™d MONEY ® W8 &1
fofear S ? |
(1) LMLAT (2) LMKZT (3) LMKAT (4) LKMAT

In a code language PURSE is written as OSOOZ ; in that language how will MONEY be
written ?

(1) LMLAT 2) LMKZT (3) LMKAT (4) LKMAT

155.

TF gt TG PN, wde @ aed e 30 M. W, @R wa fkder 30 1. W R, Fi)
3 fegien 30 HY. SIS et @d: =41 UUhe g&d. dl Al HIvedl fe9H Sid 31 ?

1) = (2) dFA () g (4) TRA

A girl leaves from her home. She first walks 30 metres in north - west direction and then
30 metres in south - west direction. Next, she walks 30 metres in south-east direction.
Finally, she turns towards her house which direction is she facing now ?

(1) North - East (2) North-West (3) South - East (4) South - West

156.

Tfeean 3 TTERETE G994 A1 SF TIHE IR, RAnefw fameren st g watg fraer ?
5:30::10:7?
(1) 100 2) 90 (3) 110 4) 80

The relation between next two terms is the same as in the first two terms. Select the
correct alternative in place of the question mark.

5:30::10:?
1) 100 @) 90 @) 110 4) 80
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157. TR T 59 § T S 51 2R wwmwﬁfaan@ ﬁﬁaﬁmar%? a1 gew STt *feet
T, T TR S R e S o S S et w2
(1) (2) T G I (4) wEm
A man and a woman were going by a street. Someone asked the man about his relationship
with the woman ; The man replied. ‘Her mother in law, calls my mother in law as mother’.
What is the relation of the woman, to the man who is with her ? '
(1) Wife (2) Daughter (3) Daughter in law (4) Sister
158. Wﬂ@@'ﬂﬁmﬁw‘feﬁ?qﬁaﬁvﬁ7
AZN, BYP, CXR, DWT,
(1) EVT (2) ETT (3) EVV (4) EUU
What will be the next term in the given series ?
AZN, BYP, CXR, DWT, .
(1) EVT (2) EIT (3) EVV (4) EUU
159. g et fear -
(31) WITH : TIHW (9) JUST : SUTJ
(%) HAVE: AVEH (¥) DONE : NOED
ORNC) 2 @@ @ & @ &
Spot the odd pair out.
() WITH : TIHW (b) JUST : SUTJ
() HAVE: AVEH (d) DONE : NOED
@ @) 2 () @) (© 4) ()
160. JENHE fa=graan Sl GEITG Al FUAEE! arg gt feer -

9 4 20

8 5 12

7 6 7
1 7 (2) 6 @ 5 4) ¢4
Choose correct alternative in place of the question mark.

9 4 20 |

8§ 5 12

7 6 7
1 7 (2) 6 @ 5 (4) ¢4
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161. TS TN Afowd Fhdt 21 8 BT 3 6 T SR ST ST 4 = i T

Mg ? ,
84286436853587437682406843
1 = 2) @) =X (4) W=t

In the series given below how many times has 8 come with 6 preceding it and 4 not
immediately following it :n
84286436853587437682406843

(1) One (2) Two (3) Four (4) Six
162. 9% Fa=gr= SInft A it frere
. 5
oAl A |: |edp| ?
O
o a a
1 DON < o (S
M) @ | ¢ @ | @ | 2
Select correct figure in place of the question mark.
O
oAl A el ?
L
o a a
1 DOA 2 < 3 o g
1) 2 0 ®) A 4) S

163. TH TREIH ARATHA HIEER AFHdd SRAfTTgaT Jaff FRSS AR, qeh WA qEfasen
THeR SHITEE HEt e el w3 i ?

Vo
LV

v V] N
ORIV (2)§//§ @ V] (4)Q§

dotted line, how will the design look like ?

Vv
PV
Vi
Vi W """ e N
™ |y| @ Y @ V] | CENE
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164. G oo sFtn! A =1 B ¥t fifved ¥d9 sz, C =1 D ¥ a9 S99 Jefyd woamams!
Ay ot fraer - '

AOO ' oAl ?

A B C D

5 o | A\ ©) @

In the figure given below A has definite relationship with B. Establish a similar relationship
between figures C and D by selecting a suitable figure from the options :

R EENE

A B C D

@ | L& o | /A ®) @

165. TH, HigT0ey 525 fearaiqt Aiar 1R, TH= FE07 HiHl, aT=arie 75 S+l diat 3718, S’ =
SHfCe® GHeR 3@, at TH= <1 feaeh 5 e a1 foag ivmr ?
(1) ¥HHaR (2) TIBAR (3) THAR (4) TEER

(1)

Ram is older than Mohan by 525 days ; Seema, the sister of Ram is older than him by
75 weeks. If Monday is Seema’s birthday, what was the day at the time of birth of Ram ?
(1) Monday (2) Tuesday (3) Wednesday (4) Thursday

166. ST BAD ¥ SAD 3141 fofger, GOD wiss XOD 3/ fefgsr, @ COT v w4a1 fofga e ?

(1) COD (2) TOT (3) COT 4) TOC
If BAD is written as SAD, GOD is written as XOD, then how will COT be written ?
(1) COD (2) TOT (3) cCOoT 4) TOC

167. SR+ T ‘x/, ‘x wmAd+/ — A4+, e — W -
20-5+18x (3+2) =t fhma fawdt ?

(1) 18 (2) 20 3) 22 (4) 24

If'+" means ‘X’ , X ' means‘+’, —" means’+’,’+’ means ' —’. Then what will be the
result of : ’

20-5+18x(3+2) ?

(1) 18 (2) 20 (3) 22 4) 24
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168.

46

SR BEST=3800 ; ROAD=1080 ® HERO=? . o
(1) 5810 (2) 38000 © (3) 10800 " (4) 1540

If BEST=3800 ; ROAD=1080 then HERO=?

(1) 5810 (2) 38000 (3) 10800 (4) 1540
169. e sadia T fodt e sRa?
1 5 2 10 ®3) 9 @ 7

How many triangles are there in the given figure ?

1 5 2) 10 @) 9 @) 7

170. vy fasren fewmont arg & /i -

(1) 20 (2) 25
Select correct alternative in place of question mark.

3) 26 4) 75

3) 26 @ 75
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171.

47

‘o' A Teure arEret 3 AT qe Sd. ‘9 = ame 5 fafe w9 aed @ 6 i 15 fafTert e
dood Tehell fHfTei=n ws 48 ?

(1) 50 fufe (2) 144 10 fafe

(3) 40 fafte 4) 35 fate

‘A”s watch is faster by three minutes per hour. ‘B”’s watch lags by five minutes per hour.

What will be the difference in the time of two watches after 6 hours and
15 minutes ?

172.

(1) 50 minutes (2) 1 hour 10 minutes

(3) 40 minutes (4) 35 minutes

Yfgedn 99 Yeid S Gey 3R, dr fag=an nfor Stean yem e, @ yydes fawren e arg
iy fraer -

6:56::9:7

(1). 81 (2) 54 (3) 65 4) 89

The relation between third and fourth terms is the same as in the first two. Select the
correct alternative in place of the question mark.

6:56::9:7
1) 81 2) 54 3) 65 (4) 89
173. %M AU (RIS WEAT HIvKd ?
1296, 2448, 4824,
(1) 3636 2) 9612 (3) 4884 (4) 8442

What will be the next figure in the series ?
1296, 2448, 4824,

1) 3636 2) 9612 (3) 4884 (4) 8442
174. THATGRTAT ST ST 9419 h1ord ?
AJC[E[G] >
1 | 3 | 25 |343] ?
. X N 1
1) G561 @ 54 @) 79 @ T

Which is the correct alternative in place of the question mark ?
A | C E G ?
1 3 | 25 343 ?

L K N T
M el @ 57 ®) 729 @ 126
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175. SHET AU AaC=! STehdl I 2

48

A AN AA | AAA ?
(1) - |[AAAA 2 | AMA 3) 4 | AA
What will be the next figure ?
A AN | AA | AAA ?
(1) |AAAA 2 | AA 3) @ | M
176. gyeds fa=ren fowmht 9va wafa fraer -
(1) 24 (2) 16 (3) (4) 26
Select the correct alternative in place of the question mark.
(1) 24 (2) 16 (3) (4) 26
177. Svitdte Repme=n S arg 9ata faet -
abc 19, bed 22, cde 25, def 28,
(1) efth31 (2) efg3l (3) (4) egf31
Select the correct alternative to continue the series :
abc 19, bed 22, cde 25, def 28,
(1) eth31 (2) efg3l (3) (4) egf3l
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178. ®IETAT 14 STaee fededn aTed -
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&ﬂ@‘@ %@x@
Tarea RIE Ear|
I | 11
Tresan T faeg 37T ShivRT U7 379 ?
(1) deq 2 oo (3) fuee

Three positions of a dice are given.

£° N
Yellow White [© Black [
I II III
Which colour will there be opposite to the Blue ?
(1) White (2) Red (3) Yellow (4) Green

179.

T e shaaitst A =1 B I ffved @ey o). C 91 D ¥ a9 g9y geenfyq wvarnst
I g9y fraen -

© |a cc
?
AN O O
A B C D
cC @ C cC
1 2 3 4
(1) - () c (3) - 4) -

In the figure given below A has definite relationship with B. Establish a similar relationship
between figures C and D by selecting a suitable figure from the options.

© A cC
?
A O| O
A B C D
cC @ C CC
1 2 3 4
1) 0 ) c 3) 0 4) o
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180. Teoean vy, feman Sl a9 ¥ o[ -
S grain (roti) coat ; Ntack (toyc) body ™ Stake (
(1) talk (2) tbke (3) Dbate
Fill in the blank with the correct alternative.
If grain (roti) coat ; Ntack (toyc) body then Stake (
(1) talk - (2) tbke (3) Dbate (4) esbk
181. HERTE PRI Wal (W) M 1981 7<) FHEM Wee (O aeH hedrd
fea® @ Afufas =1 e,
1) 1 2) 2 G 3 @ 7
As per the provisions of the Maharashtra Civil Services Rules (Leave) 1981 an employee
is eligible to get a special casual leave for day/days if he voluntary donates
blood for free : '
1 1 2 2 @ 3 4) 7
182. T A HIfedt ST Fha T WiEd ST TRTe ¥ HOEIe TE AT SR
SAUFTEm 2005 = BIHGTH! HIVE FSIM IS ?
(1) &oH 17 (2) <*H 18 (3) =wH 3 (4) wFoHA4
Under which section of the Rights to Information Act 2005 there is a provision for removal
of the State Chief Information Commissioner or State Information Commissioner ?
(1) Section 17 (2) Section 18 (3) Section 3 (4) Section 4
183. HEWIR =T faawur (fgfaa) smew 1966 = %o i (3) A WISIGUH! HeaTe AR e ?

(1) sifasa framEey gHEM TSR 93 30
(2) Taumte v Afuwr

(3) Teremafrent w & smed

(4) wrEMAleER fefyreTem

What does section - 3 of the Maharashtra Food grains Rationing (second) order 1966
provide for ?

(1) Issue of authorization to ration shops
(2) Power to issue ration cards

(3) Cancellation of ration cards

(4) Restrictions on hoardings
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184. WINER Wishar wfgdr, 1973 =1 HIVAT FOHTAT FSal 9 TAHIUHS Gt I 3D

(1) 100 2 153 (3) 320

Which section of the Code of Criminal Procedure 1973, relating to search and seizure
shall so far as apply to search and seizure under the provisions of Public Distribution
System (Control) order 2001 :

1) 100 (2) 153 | (3) 320 (4) 456

185. T meRTS HAHA feod oR™fET LR, 1966 = FoH 2 (T) THR '’ AT 7 TH A TH

HE ' foed e S T8 AT HHT GREOTd SIS faskieRdar FOEE A
1 10 2) 25 3) 50 @) 100

As per the provisions of section 2 (D) of the Maharashtra Kerosene Dealer’s Licensing
order 1966. “Hawker” means a person who carries kerosene from place to place for sale
in small quantities not exceeding : litres per person at any one time.

1) 10 @) 25 3) 50 4) 100

186. & WERTY Wicae {he 3 T STIREA) 3ATeX 2007 JHq fhdt ga=ar a® TR o ST~
ISt A Bt ifrard TR ?
(1) 30KL AW, 10 KL. §ea&  (2) 40 K.L. 9%, 30 K.L. Greav®
(3) S50KL. 9, 20 KL. §8a0&  (4) 20 K.L. 9%, 30 K.L. W39

Above what quantities of usage and storage, it is mandatory to take a licence under the
Maharashtra Solvent Rafinate and slop (licence) order 2007.

(1) 30KL. use and 10 K.L. storage (2) 40 K.L. use and 30 K.L. storage
(3) 50 K.L. use and 20 K.L. storage (4) 20 K.L. use and 30 K.L. storage

187. WeRTE PRI Qa1 (g 9 i) a9 1979 utfte Hivren woarad SNt FHurmg Se) 3
FOAEEAE! FATGA TG hoD! e 2

(1) *eH 3 () o4 (3) wHoH5 (4) woH 8

Which section of the Maharashtra Civil Services (discipline and appeal) Rules 1979, provides
the procedure for inflicting major punishment on a Govt. employee ?

(1) Section 3 (2) Section 4 (3) Section 5 (4) Section 8

HoeAT RIMTETS! SR /SPACE FOR ROUGH WORK

P.T.O.

e StudentBounty.cam


http://www.studentbounty.com/
http://studentbounty.com/

LOI 52
188. RN WSS HHITSEIS Bode feod wr@fHT 317€t 1998 3iqid ASTES o WG
T fodia % amea ? ‘
(1) wH A9 ®YB (2) wHAdTwHEC
(3) WH CI®HD (4) wMHBA®HEC

Which forms have been prescribed for making application and issuing licence under the
Maharashtra scheduled commodities wholesale dealers licensing order 1998 ?

(1) Form A and Form B (2) Form A and Form C
(3) Form C and Form D (4) Form B and Form C

189. ufso® ferdteqym faw™ (F2@) e 2001 & HEIEAN HIV TREYH TSI TG Hal ?
(1) 1¥<R 2001 (2) 313T= 2001 (3) 19 2001 (4) 13 2001

On which date the Public Distribution (control) order 2001 was published in a gazette by
the Government of India ?

1) 18t September 2001 2) 318t August 2001
p g
(3) 15t March 2001 (4) 1st July 2001

190. WERIE AN 941 (SHvh) o 1979 =1 vl FOATE TS HHIAFRITE ORIl RasRrua™
TS 3R ?

1 10 @ 11 @) 12 4 13

By which section of the Maharashtra Civil Services (conduct) Rules 1979, a government
servant is prohibited from accepting gifts ?

(1) 10 @ 11 @) 12 @) 13

191. WS Fiaaoe qEid sifaer sifafrm siner gearayd fod foaai= s witsomerem
FEAYR AR TG wOaare ST ?

(1) 30 feaw (2) 60 feam @3) 90 feam (4) 120 feawm

Within how many days from the enforcement of the Right To Information Act a public
organization is required to publish its general information ?

(1) 30 days (2) 60 days (3) 90 days (4) 120 days
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FAHH (areie ey g fafm= foma fHiaa wr) e 1993 Tar ' aeav =t s’ ar=r
3t W= T I A{ 9 g S ST ST 2.

(1) YHSE 7@ ST 2) faenles

(3) foumErRy (4) oo

As per the provisions of the kerosene (Restriction on use and fixation of ceiling price)

order 1993, “storage point” means the premises approved or licensed by the chief controller
of the

(1) Govt. Oil Company (2) Explosives
(3) Rationing (4) Weights and Measurements

193.

TR e faator =g (W € ©9) S T fashdr, qderss fashar 9 gfewd
(STIRY) ST, 2009 ST FAT HI0FTHT FSdt HvATET SV T HI0ATA AUBR WSS Feht
o AT QU ATl R

(1) s s ey ) Tea friemr sifert

(3) dElEWER (4) UEEE AU faauu At

Who among the following is not authorised to enter inspect and seize under the provisions
of Maharashtra Public Distribution System (PDS) Kerosene wholesale dealers, semi
wholesale dealers and Hockers (Licensing) order 2009.

(1) Assistant controller of rationing (2) Chief Inspecting Officer
(3) Tahasildar (4) Assistant Food Distribution Officer

194.

W%ﬁf&?f@m‘m@ﬁwaﬁtw%aﬁﬁmmﬁ@w?
1) e FAEE, Tode R (2)  Fd, AU HUrEd
() wHd, e HAfa (4) 9T HIVAE A

Which licences are issued under the Maharashtra kerosene Delears licensing order 1966 ?
(1) Retail kerosene, Wholesale kerosene

(2) Hawker, Wholesale kerosene

(3) Hawker, Retail kerosene

(4) None of the above
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195.

- 54
fe. ar Wi i vees #uifediN (VIoTH ATh feRi=Em) et 1986 iawd
STIgfad U Eifed hedn 3R ?
1 3 2) 4 (3) 5 @ 7

How many commodities have been declared as scheduled commodities under the Bombay
Rationing Area Scheduled Comodities (Regulation of Distribution) order 1986 ?

1 3 2) 4 (3) 5 4) 7

196.

TfiET Wadte Feaa fuie Fvar 1ga afawan Teiots! I TR faid
FST R ? |

(1) werrg e fumerey (fed) Re 1966

(2) werrg swer ey (fgdfta) fema s 1966

(3) e Rerered & srgled e SR 1986 (faoms fafremm)
)

(4) wESIE faawer seeen (fraao) e 2001

Which order lays down in detail the procedure for identification of the BPL
families ?

(1) The Maharashtra Foodgrain Rationing (second) order 1966
(2) The Maharashtra Foodgrain Rationing (second) regulations order 1966

(3) The Bombay Rationing area scheduled commodities (Regulation of distribution) order
1986

(4) The Public Distribution System (control) order 2001

197.

qrewiier foraor sgaen () ey, 2001 3= U GraSI-oh il sFaesaiia
T WG THMAGT SeAEvgs 9] SRR TSI e faar yifvstom faada oo
TEIUES TR,

(1) e (2) W@ B W (4) wEHRES
As per the provisions of the Public Distribution System (Control) order 2001

is the document issued by the State Government under an order or authority for the
purpose of purchasing the essential commodities from a fair price shop.

(1) Licence (2) Permit (3) Ration Card (4) Authority Note
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198. 3TN RLMFIYRSE g 9 diges STThH Woeush! Ufd fha! v m foe < ?

55

(1) ¥ 7.20 IfUT T 9.60 (2) ¥ 5.00 3T T 6.00
(3) HIRa (4) T2.009 Z3.00

At what rates per k.g. are wheat and rice are given to the Annapurna card holders ?

(1) %720 and < 9.60 : (2) R 5.00 and X 6.00
(3) Freeof cost (4) < 2.00 and ¥ 3.00
199. fefrwEe tfeem e (asTa faau a2 fafmmm) smew, 2000 3= SR e STsieaiT
a3 HIA AU U@, WS, e awar &R s
1 9 (2) 14.2 (3) 19 (4)  15.2
The capacity of a L.P.G. Cylinder supplied to the domestic consumer under the Liquified
Petroleum Gas (Regulation of Supply and Distribution) order, 2000 is kg.
® 9 (2) 14.2 3) 19 (4) 15.2
200. STEEYIS IR HES 1955 TN FOH 7 G WHGTH! HIERS TS 3T 2
(1) foan (2) T wo How! faweare
(3) SfHSR A FIoETEd @) e
What does section 7 of the Essential Commodities Act 1955 provide for ?
(1) Penalties (2) Confiscation of seized commodities
(38) Delegation of Powers (4) Appeal
-o0o-
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Il — (Y3 1 967 q3....)

8)

©)

yEqfasns fafea Fon fafire Srie = &0 (W o) #4.  TRgfaseafiiE
T FICER Fad 1 HedE ¢ FIA FOIA WM F0 AR, 3@ G TES § AR
AT W Soedt  aleins) At RS giaey weaEead Sifufae-82" Ao WgETaR SRA%
O JI3 T S ST HUTS Ush FUTS KRG T/ fhal 93 s R = ser= g
T4 TE.

TR YEIREE S fafga FOd 98 AveaH® SHSARA & JeHYRasT Wa:set Tahaieel
U I WA R, WA THYT FHATATR ATIATIEl SHETA ATYST SR T WHT-1
ATAYETRS 7 fTORaT T 0! v e

Y. %, 201. ‘' MER N IH WO A1 SremyErEr 3 w1 ?

1) T R : @ Jwifad o
@E) fam fidt area @) oEE AW
IR A 3 (3) sifava et ard’’ o SR, e W TR W (3)" e

AT WIAGIRTIT G97 h. 201 FHIIo SH-Hai ' (3)" ® dges TOIq0 BRI w1 rafess
YA 3.

w21 O Q @ @

3T TS T TS T TRAET AT SAGhTI B R S e
ITMARIS @1 A ITHAREERG G694 UMY S/Hifthd H&q RgaEl.  @ehiar
Therd hTeodl VTS S0 ST, Af0e ar yge U |Ig® 4.
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